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(A) XEVHERIEC - (543)

(B) XHYHALME - (543)

(C) XHIBAH - (54))

= EBIEAR X, %y, ., x, HE S HAEE S A6 N K S (Poisson Distribution)>

(A) FHE xRS TRE AR AMLUESHE (Maximum
Likelihood Estimator, MLE ) = (5 43)

(B) S x BB RENEL - WoRE A B2 538 (Moment Method

Estimator, MME ) - (5 43)
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(A) RS R 60% - (543)
(B) BRI TREREN-(55)

Note. P(Z<0.53)=0.7019 P(Z <1.285) =0.9000
P(Z <1.645)=0.9500 P(Z<1.96)=0.9750
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(A) HLha=005, REZBEUNER. (55
(B) HEBR -BMUEIRIBRIERNAE 80%, HIENBM? (10 43)
(C) HREEMEL=0.025, BEMEDEAE, (10 )
Note. P(Z<0.53)=0.7019 P(Z <1.285) = 0.9000
P(Z <1.645)=0.9500 P(Z <1.96) = 0.9750
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Note. F(2,21,0.95)=3.47 F(2,24,0.95)=3.40

F(2,21,0.975)=4.42 F(2,24,0.975)=4.32
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